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10.

11.

13.

0 A

Recently central government has decided
1o merge three nationalized banks to form
india's second largest bank after SBI, which
of the following is not included in the list 7
(A) Dena Bank

(B) Vijaya Bank

(C) Corporation Bank

(D) Bank of Baroda

Ayodhya Prasad Goyalia intreduced
to urdu literature.

(A) Dohe (B) Poem
(C) Sonnet (D) Shayari

If ROAD is coded as 38, then LIGHT can
be coded as ER
(A) 54 (B) 66
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(B) Falna

(A) Bahudhanyaka |
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7. Four cubes of side 2 cm are joined end
solid is
RO e’ (B) 36cm?
e Rla2d.ci
18. A wooden instrument with tied up strings
played by using a bow is called as-
(A} Chimta (B) Drum
(C) Damru (D) Saarangi
19. Which of the following Harappan Valley
sites is the oldest one in Haryana ?
(A) Bhirrana (B} Rakhigarh
(C) Banawali (D) Kunal
20. Solution of the equation
IE - (‘rll":?.-_';_'lljx_i.. 1,||I'E=IDE.I'E."
(A) 1,2 +1
(B) J2, 2 +1
(€) v2.1

/& Pradesh and |ater
n'IGME Was made in 2016 for
Oscar Award. was written by

(A) Vikram Seth
(B) Aravind Adiga
(C) Rudyard Kipling
(D) Jumpa Lahiri

an E.I'IimElIEd
Whiﬂh it won

Two coins are tossed simultaneously. The

probability of getting exactly one tail is
(A) 1 (B) 0

©) /2 © %

@) -1.v2+

16. &t oo v @ 3oret U ¥ | 3 o e

a1 3 = il 2
(A) 1

© /%

(B) O

o %

17. 2 Gt YIS SR 0 A 0 g 3 91

g R | aftrmi S 1 gty s 8

(A) 70 cm? (B) 36 cm?
() 72cm? (D) 24 cm?
: " s ares B T -I.-ﬂ-|'--'-r- I3y o s ¥

16. T A1 ST ST T U e 1 A o

A H WEEW E S e,
e 2|

(A) Fger (B) 3H

(C) =A% (D) |t

19. B3 url e A fefefag 8§ & -

FHATIT 5 Wit & 7
(A) fircgrn (B) TEing
(C) =T (D) Fer
20. HHTFL xau{ﬁ+1}x+ﬁ=ﬂ‘ﬂtﬁﬁ
(A) 1, V2 +1
(B) V2,21
(©) V2,1
(0) -1\ +1
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15.  The real foundation of the Sultanate
dynasty was laid by
(A) Babur
(B) Ghor
(C) Qutb-ud-din-aibak
(D) Akbar
46. Four resistors 2Q, 4Q, 6Q and 8Q are

connected in parallel. It is connected to &}
battery of 24V. Find the current through 652

resistor.
(A) 4A (B) 25A
(C) 144A (D) 10A
47. 1f 18" March falls on Wednesday, then 1%
March was on
(A) Tuesday (B) Sunday
(C) Saturday (D) Monday

48. The Gram Pan::hayam,-.wnms for

e ?:.!_’HJEI'_B_.‘ tig

(A) 7 {Ej 5

(C) 5 (D) 4
49. HUDA means

(A) Human Development Auﬂ-nnﬁhr

(B) Haryana Urban Deuaiﬁpn'fﬂnt
Authority

« M=

} Human Flig’nts Aummiiy

The radii of two circles are 12 cm aritl

4 cm respectivel
which has circumierence

the: nircun'lfaraheﬂ of the tw

50.
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y. The radius of the circle"
equal 10 surﬂ.PJ
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21. Every year World Water Day is
| celebrated on
: (A) March 22 (B) April 22m
. (O) May2ox (D) January 22

22. Which of the following commission / plan
recommended a three-tier confederation
of sub-continent during freedom
movement ?

(A) Wavell Plan

(BY Cripp's Mission

g
(C) Cabinet Mission
(D) August Offer
!
23. Which of the following explanations is true [
about lacal seﬂ-gnvummnm in Inr:lm ?
ﬁ (A) In P&m:hayath elections, ele nic

Im::al mlf—gwammem in Indla
(C) Both (A) and (B) are correct
(D) Mone of the above

 Pots are made by using

) Mactine (8] Plste

(C) Glass (D) Wheel

The earlstraference cl he word Haryana
iz found in
(A) Chahamana
(C) Atharva Veda

42018 (1) (E11)

2. wfivad fova e foag

ST 8 |
(A) 229
(C) 229

Faferfiera 1@ f5 I /e 3 s
T2t % AN SURETE b Fi- st a6

== Jr-HT-{"J'l

(B) 2238
(D) 22 SFah

22.

mﬂng mar:hine& are mi maﬁd lrl all

(B) Fig Veda w
(D) Bramhapurana: |'I

wamﬂnﬂvﬂmiﬂﬂ";zﬁ Ly ”EI

il 1y
@rﬁﬂ*ﬂﬁ"ﬂ
r'. -.hl'_B} i firm
(C) =Hfa2 e
(D) ez T

WA H T4 SR & I A e 4
o @ o s dea g ?

(A) Y= et A Hﬁﬂﬁﬁ:ﬁﬁgﬁfﬁﬁ
werEr i # ﬂ?ﬂr T A
W 3

(C) {Am‘hrm?maﬂﬁ
(D) o 0.4 w5 T8
T oy sy e AT A B
(A) wefE (8) wnfe®
(C) {n} ﬁmﬁﬁ

25. 'srmungnmr
(HET ST S |
- (A) wTER

ic’lfmﬂz

24,

=1y




TR AU

2018 (1) (E14)

32. Bhiwani Canal has been drawn out of 3y fEEhA® B Femd
(A) Bhakra canal (A) @S E i
1B) Okla barrage (B) af[gfa'[ =1TH]
_.tﬁ‘l_ Ganga (D) Ul
a3, \\Hich of the following statements is not L a3, Frefafadd 00 i T H 7 S
regarding distribution of power between =4 & 4 gfet o wean & g H 5
Centre and States in India ? g7
| (A) Pesiduary powers are conferred on () FEfre arfaeat dE TR Hfafea ? |
the Union Government. @) Fawd, e it faee a1

(B} The scheme o! distribution of powWers
in the \egislative, administrative and
financial fields are provided under the

seventh Schedule of the Constitution

el 'ﬂfﬁﬁﬁﬂiﬂﬁﬂfiﬂﬁr
(). (A) 1L (B) 2 wEl

(Cy Both () and (B are correct 3 i
(D) None of the above (D) T @
a4, Find the word which is arentttomie |\ 34 FEE <t g 1 A (g T ST SR
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English Language

Fill up the blanks with appropriate conjunction:

69. It rained three days without

stopping.

(A) while

(B) for

(C) during

(D) since

70. He will pass he works hard.

(A) as

B) and
(€ i
(D) while

Choose the correct option.

'ﬁ “The woman was carrying a
S &
(A) black small plastic
i (B) small and black plastic.

Iﬂ} hﬁﬂ- qu"auf_ : il
(D) the higher your bill m gﬁt-m

=4. The truck came towards them ‘“HEHW

the bridge.
(A) Dy

(B) above
{G‘,i through
(D) across

Choose. ma gorrect meanings of the idioms

given below.

75. By dint of.
(A) Slowly and gradualiy
(B) By means, of R
(C) Without 5taad3r apphea'ﬂan
(D) Byany means

76. Fair field and no favour.
(A) Upright =
(B) Without-tricken

(C) Equal conditi ns.

(D) Honesty

Ehuﬁﬁ-ﬂjh'mﬁaﬂt form of the verbs.
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U Mughul, Buddhist 2 | 1 U A R |
cu"urj.cisiﬂﬂ was taken in 191?r 2) Epi 1911?%“1;:‘?“.%
2) The p;ng George V was crowned in sitst v =l 2iE 3 arsrret
w"ﬁ:na, 2 Durbar was held in Delhi : e ot o
finfe!shfﬂm the occasion. ~ SE S LT
g Lord Harding was the viceroy at thal |
time.

4) Two architects, Edward Lutyens and
Herbert Baker, were called on to
design New Delhi and its buildings.

5) It took 20 years to complete the
structures.
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4/2018 (1) (E11)
1 - s used in soda acid fire
axtinguishers.
(A) NaHCO, (B) Na CO,
(G) NaCl (D) NaOH

2 The Shivalik Hills coverthe
part of Haryana.
(A) North-eastern
(C) South-eastern

(B) North-westemn
(D) South-western

3. Find the missing term (?) from the options
for G XD, EVF, 2, 1RJ, KP L

(A) HTG (B) GTH
(C) GSH (D) HUG

4. Adventure Sports Academy has been
establishad in
(A) Bhirrana
(C) Momi

(B) Rakhigarh
(D)  Mundri

5. Which of the following form an AP.2
(A) 1..1,2,2,.3:8:.
[B} 03, GBE nagﬂ
5 o ol |
{m E-. 4-|E.!_-u_.

(D) /5,20, /45, 60, ..

6. Findthe missing number (?) inthe sequence
125, 2,27, 8,1, 0.
(A) 9
(c) 60

[T T

(B) 18
©) 64

L Eh_ui || ¥

II.'.
CINE =

Aladder 13 m Inng. oaches a window of

,. el st feeet G
TR |
(A) NaHCO, (8) Na,CO,
(C) NaCl (D) NaOH

p, TarEferE ) waifaat s *
WM HE | J_
(A) Frre-gedf (B) IH _tt%‘ﬁﬂ

6. mms.? 27,81, nﬁ@am

(C) =fm= Iﬁm J‘l’ﬁﬂ%‘ .iﬂ‘li;,:'* 1 h;,-

3. CXD,EVF.?, fﬂ,;j;:gp e

ﬁﬂ':atﬁ.'{?}m
(A) HTG i.’BJ GTH. .
(C) GSH (D) HUG
4. e v v (e Ty ) i
o eefd TR | |
(A) forgr (B) TETE
() e (D) T

[;A} L|-I' 'f'| .21 Er sul"a'l L1
(B) 0.3,0.33,0.333, .

Bl
©) J5, /20, 45,80, .
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ag, After the death ©f Harshavardhang, VL 0N A

kings ruled Kannauj. a8, sk £ - S .
(A) Mughals (B) British Hﬁﬂmmmm e RE AR\

(C) pratiharas (D) Cholag (A) Hred ®) faf

1t (C) wfrem :
59, Which of therlnllﬂwmg rl;;s not an eXample ) | (D) ¥4 :
food mater 0dy and then' 219 1 3qEre ik it r
absorb it ? Ithen |, BB iz 38 rsig =0t
(A) Bread moulds  (B) Yeaq |

(C) Mushroom (D} 'Eu.?,r,:m_a || -

40. Ambala is famous for
(A) Watermelon (B) Mango
(C) Jack fruit (D) Apple

4‘-|. Which of the following is a mechanical . 3 Ty |
wave ? N, trefefaad den-d s atmamet
(A) Gamma ray (B) Soundwave (A e BEm © SRET ., >4

(C) X-ray (D) Radio waves (C) T ) e -.'
42. Which of the following is incorrect with | 42, Jrish st 3 e e & v  wam =

reference to Gandhiji and his association & s PSS |
wilh various bodies AP § 8 42 s b
- |

= L
el

orin Cripp's O T B |
mber in Centra i) 7 o e e 0 e |
ative Councll. (i) 3 S e e |
:-E;,Wﬁtﬂhﬂ'“.“ Constituent { T
Ealﬁézﬂ'lﬂnghtnna 2, i S (A) e (i) (8) %;aama#(m

(A () only
(€) Allthe above (D) (ii) only

43 If31anA =4, then value of

3 1 PG, i
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42018 ) (E11)
af Consider the
10 cultivation

1) Wheat needs very hi
very high temperature

following statements in relation
of wheat.

gh rainfall ang

2) InIndia, wheat is
winter season,

Which of the above slatemen

generally grown in

tfs IS /are
correct 7
(A) None (B) 2 only
(C) Both1and2 (D) 1ony

2B. Thedancein which Gopis form a circle
around Krishna is called as

(A) Bharathanatyam (B) Rasleels
(C) Marathi (D) Bihu

29. The equations 2x + 4y = Band BX + ay = 32
represent the same straight line if a =

(A) 2 (B) 16
(C) 9 (D) None of these
30. The products producedin aerobic respiration
‘both in human and plant cells are
1} ﬂﬂ; r:_“m‘ ‘.44* }
2) Water
s 3) - ATP.

Ty e

O 0 o L
27. o) M % whinr 3 Faferfirn et
FarIT i |
1) T stfer sid) aat s snfoy sy e
1 SLd Bt 2 |
2) WISt H e e it o i g
ST g |
I HYAI A H F-a w7
(A) FET  (B) FEw2
(©) 18234 (D) Faw 1
28. =% 7o forerd ftrat o 3 9l @i g
e 2, _ FEAEIE |
(A) T (B) T@Efan
(C) HE (0) fag
29. 2x+ dy = 8 31 8x + ay = 32 FHEFED! T
i @ S 2w g afz g =
(A) 2 (B) 16

(€) 9 (D) 7 & %t et

34.
30. TS SR U i A e e

onee
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ﬂ G'E'.', : 35.
2) W
3) ATP

(A) FaE 1 32
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